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figure (1) [ BREAEIRILAR—F ]
subplot (2,1, 1)
semi logx (omega, maglP_db(:), Linewidth’,2) % 1
hold on il fE et P(s) = —————
semi logx (omega, magLPI db(:), r', Linewidth',2) (s) (s+1)(s+5)
grid on
ylabel ('Gain [dB]',’ fontsize', 14,  fontname'," times’) [RSR&E1)
set (gca, ' fontsize', 14, fontname’, ' Times New Roman’)
e ) PHIfEl Kp(s) = Kp 1T, EEBRED 0.05 LITITHD
set (gea, " xtick’, [1e-2, Te-1, 1e0, Tel, 1e2]) Kp ZH/ETLTTEEZE A &
subplot(2,1,2)
semi logx (omega, phaselP(:), Linewidth’,2) (1) Kp
hold on 2) R
semi logx (omega, phaselLPI(:), r’, Linewidth',2) ( ) ,;:\ = l&i:
grid on 3) I —TEEEHDR—FE
xlabel (' ¥omega [rad/s]’,’ fontsize', 14, fontname', times') ( ) "
ylabel (' Phase [deg]’, fontsize', 14," fontname'," times') (4) b‘{)ﬁ%]ﬁ,&ﬁ Wye
set (geca, ' fontsize', 14, fontname', ' Times New Roman')
set(gca, ' linewidth', 1)
axis([1e-2 1e2 -180 901)
set (gea, " xtick’, [1e-2, 1e-1, 1e0, 1el, 1e2])
set (geca, "ytick’, [-180, -90, 0, 90])
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